MODEL TEST PAPER (Term - Il)
Class — 11th (Level - lll)
Subject — Telecom

Time : 3 hours M.M. : 40

fagre 9T (Special Instructions) :—

(i) Candidates are required to give their answers in
their ownwords as far as Practicable.

el AAEYE T Wl H g S S |
(i) Marks allotted to each question are indicated
against it.
TAE YT o ek 3Tk @ feu MW E
(iii) All questions are compulsory.
sft gea sifem €
(iv) Answers should be brief and to the point.
S Hiw T T W g =@feT
(v) Answer the questions of 1 marks in only one word

orin aline, 2 marks in 20 to 40 words, of 3 marks
in 40-60 words.

1 3k ol Y & ST had Teh IS A1 Uk Ufed H,

2 3Rl 9T Y9I o I 20 W 40 Wsal H, 3 37kl o
Il % I 40 ¥ 60 vl H ¢

Q.1. Answer the following questions ?
frafafaa ool & s @S ? 5x1=5

(a)

What is the full form of OTDR ?

OTDR &1 T 91 &1 § ?

(i) Optical Time Dector Ratio

(if) Optical Time Domain Ratio

(iii) Optical Time Domain Reflectometer
(iv) Optical Time Detector Reflectometer
What is the full form of VFL ?

VFL &1 QU -9 1 § ?

(i) Visual Fault Locator

(i) Visible Fault Locator

(iii) Visual Fault Location

(iv) Visual Forward Locator

How many types of fibre splice are
available ?

FEeR TR fhad YR 1 Bl § ?
(i) 2 (i) 4

(iii) 3 (iv) 6

What is the full form of FTTH ?
FTTH &1 9 M #71 € ?

(i) Frequency Transmitter To Home
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(i) Fiber TO THE Home

(iii) Fiber Transmitter TO Home

(iv) Frequency TO THE Home

Who is the father of optical Fiber cable ?

el WA FHad & SFH HH © 2
(i) Charles Kuen Kao

(i) Adam Smith

(iii) Amos Dalbear

(iv) Bill Gates

2. Answer any ten of the following questions in brief.

frfafea o 9 for<l o 9 & S| ST - 10x2=20

Who is an entrepreneur ? Give an example.
TH IEH D T 7 TH ISR S|

What values does a successful entrepreneur
have ?

TH T%d STHT & F ged BId § ?
What is Multiplexing ?
ERRETRC

What is green Economy ?

giid stefeqese 1 § ?
What is Bare fibre test ?

TR HER T M ® ?

(k)

Explain the meaning of Attitude with
reference to entrepreneur.

STl o Hed ¥ sifugfa w1 a1ef T wifS

What are different ways in which an
entrepreneur can think to solve problems ?

T sgdl fea fafy= 9wl 9 gaenett = &d
HE F IR H G Ghal § ?

Write down the name of important policies
for green economy.

ga srefegeren & foau weeqel Hifmi & AW
fafaw |

Draw diagram of optical fibre cable.

Affehcl HIZsR helel ol o3 &G

Write the difference between Fusion and
Mechanical splicing.

RS 3R Hepfiehal foafem & o o foag |

What is insertion loss in optical Fibre ?

Affehet TEel H SH3H o | T ?

. Answer any five of the following question in

brief :- 5x3=15
frefefad o | frgl a= 9o & H& § I e

(a)

Explain the Fusion splicing with diagram.

s e 1 fo3 g 99e |
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What are the safety precautions we should
take when handling optical Fiber ?

siffeshel TIZeR 1 HWIAd T H -9 T
el s =mfey ?

List all sector of the green economy that affect
our daily life and also explain in brief.

ga erefeawe o 39 9+t &3 H g oA S
AR Sf7eh Sfad &1 guifod o € iR dam o
e ff w|

Explain the Elements of OTDR with diagram.
OTDR & ddl = fo3 gfed ww=md |

Write the advantage of an effective route
inspection.

T guret AE e & ey fafem

Explain the Mechanical splicing with
diagram.

Herfrerer foafan =1 o9 g0 99 |
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